Why is Percy getting better at swimming?






Greenhouse gasses trap heat inside the Earth’s atmosphere. 





The atmosphere is the layer around the earth. 





Trees take in oxygen and give off carbon dioxide. 





Humans cut down trees, which is called deforestation. 





Humans burn gas, coal, and oil for electricity, which add carbon dioxide to the atmosphere.





More carbon dioxide makes the atmosphere thicker so heat can’t escape.





A 2°C rise would mean no arctic ice, and more storms.





Some experts predict a rise of up to 6°C by the end of this century.





Ice reflects sunlight back into the sky, so no ice will mean more heat.





Greenhouse gasses are a posh word for gasses like Carbon dioxide.





If the temperature gets too high, the ice will melt.





Polar bears use the ice to live on and to hunt on, and need it to survive.








